Interpreting Derivative Graphs
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Is 1(x) differentiable on the entire interval?
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Note: This is the graph of the derivative of £, pot the graph of /.

Is f(x) continuous on the entire interval?
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Note: This is the graph of the derivative of f, not the graph of /.

Where is the derivative zere? o~ - > ?
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I. Review: Motion Along A Line

If x(t) represents the position of a particle along the x-axis at any time ¢, then the following
statements are true.

1. "Initially” means =0.

2. "AL rest” means =0, . r
3. If the velocity of the particle is positive, then the particle is moving to the I b % h ’
4. If the velocity of the particle is = __, then the particle is moving to the left.
5. To find average velocity over a time interval, divide the change in m by the

change in time.
Instantaneous velocity is the velocity at a single momept or in time

If the acceleration of the particle is positive, then

¥ e

ocity is decreasing|

If the acceleration of the particle is [ lgg . . then
9. In order for a particle to change direction, the must change signs,
10. Speed is the of velocity.
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1) State the value(s) of t where the particle is at rest.
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2) State the value(s) of t where the particle is
changing direction.

t=Kk V) chorga signs
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3) State the interval(s) where the particle is

moving to the right. * (D’ k) ; VC'[') 2>
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5) State the interval(s) where the particle is

slowing down. (sp@ (h:feﬂ&ﬂﬁﬁ
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B) State the interval(s) where the particle is speeding up.
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7) State the interval(s) where the velocity is

( D,ﬂ 5 ope o VH’B >f7
@EN




2. Analytical (NO CALCULATOR)
A particle moves along the x-axis so that at any time t its position is

given by:

x(t)=1"-61"+9r+11

b) At t=1, is the velocity of the particle increasing or decreasing? JYA.
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2. Analytical (NO CALCULATOR)
A particle moves along the x-axis so that at any time t its position is

E)>0
X"(s\>p

e) At t=s, is the speed of the particle increasing or decreasing? JYA.

X'(S)opd X'(S) hare-tha some.
Sign (s peeding Y

x(t)=1"-61"+9r+11



